alg 12015 sem 2 final review

Multiple Choice
1dentify the choloe that best completes the statement or answers the question,

1. Tom has & collection of 30 CDs and Nita has a collection of 15 CDs, Tom is adding 1 CD a'month to his
collection while Nita is adding 4 CDs a month to ber collection. Write and graph 2 system to find the mamber
of months after which they will have the same number of CDs, Let x represent the mumber of months apd y

- the number of CDs. .
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2. Which graph represents the following system ufequaﬁuns?
y=2x+1 : .
y=-x-3
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. 'What is the solution of the Systen of equations?
y=~lx+6
y=—s-2 . .
a (-2.67,1133) ° b (8,-10) e (-10,8) 4 {~4,2)
. Find the valua of & that makes the system of squations have the solution (3, 5.
y=3z~4
yebx+2 . :
a 0 b -1 c 2 d I

. The length of a rectangle is 3 centimeters wore than 3 times the width. If the perimeter of the rectangle is 4

centimeters, find the dimensidos of the rectangle. ,
o length =5 c¢m; width= 18 cm © . ¢ length =13 cm; width = 8 cm
b. length =13 cm; width =5 an d. length = 18 cm; width = 5 em.

Solve the systexn of equations using substitution.

. y=4x-1

y=2-5
@ (-3 b 2,-9) e (L3 . d G2

. y=x+8



y=2

a. (2.7.53) b (8, 16) G (-8, -16) d (-16,-8) i
2. The sum of two numbess is 71, Their difference is 31. Write a syster of equanons that describes this i g!g
situatian, Solve by elimination to find the two numbers. I e
8 x-y=7l c. x+y= =71 i i
x+y=31 x—y=31
50.and 21 46 and 15
b x+y=31 , x+y=71
y—x=T1 x—y=31
46 and 21 51 and 20
Solve the system using elimination.
9 2x-2p=-8
x+2y=—1 } : . ’ .
a (-14,1) b (1,5 e (3,0 d (0.4 ‘
[0, dx-+3p=-24 ’ _ 13 y
Sx + Gy = -39 ‘
g {-3,2) b (5.4) e (—4,-3) d, (-3,~4)
11, 9%x-1Qp=21
Sx—4y=T .
8 (5,9 b (3,-1) ¢ {(-4,-6) d. (-1,-3)
Graph the inequality. 1 x
12, y»>-5x+12
a qn%&g c.
EiF
E L o b ys-1 ¢ x<-1 d x<-1

Solve the system of linear inequalities by graphing.

14 y<x+4
2X+y 5 —4
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Write 8 - 107 as a decimal. .
a. 800 . b. 0.08 c. ~l60 d. 0.8

Chase scored 7 points on Monday, and he doubled his score each day thereafter, How many points did he
score on Thursday?

a. 112 points b. 21 points c. 2B points d. 56 points
Which number is NOT writien in scientific notation? ’

e 3x10° b 67 x10° ¢ §g7x10° d. 2567 x 10
‘Which number is written in scientific notation?

a 78 x 107 b. 34 x ipg* © 084 x 106 d 5 %™

Write the pumber in scientific notatien.

000235 ‘

a 235 too b: 235 x 107 € 235x 107 d 235x 18
Write the number in gtandard notation.

2.94% 107 .

& -1§16 . b. 00000294 . 0.000294 d. 000204
Which list shows the mumbers in order from Jeast to greatest?

B 54x10*, 54x10% 4.5x10* ¢ 54x10%, 54x10% 4.5 10

b 54x10% 4.5x10% 54 % 16" - 4 45x10%5.4x10% 5.4 x 10

Simpliﬁr the expression. Write the answer using scientific notation.

-n("r.zxm’]

2 432x10° b 43zx10° . ¢ 13Ex1 d. 432%10
Complete the equation, by supplying the missing exponent.

m ﬂ T Y -

a 4 b -3 c -8 d 8

Last year & large trucking company dsliverad 4,5 x 10° - tons of goods with an average value of $26,000 per
ton, What was the total value of the goods deliversd? Write the answer in scientific notation.

A [17x10" doliars € 117x10" doflars .

b 117x 10" dollars , d. 1.17%x 10" doltars

Find the common ratio of the sequence.

~3, 21, 47, 1029, ... - '
a 18 b, _1 e 7 d =18
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Evaluate the function rule for the éiven value.

y = 10- 5% forx=-2 .
a.

2 b -100 . e 2 4 2
3 25
Suppose att investment of $8,700 doubles in value every 8 years. How much is the invastment worth after 16
years?
a. $139,200 c. 334,800
b $278,400 d. $34,800

Match the table with the function that models the data.

x ¥
1 4
2 16
3 64
4 2536
a yagxt b op=4x °-J’-4';-

Match the function rule with tl;e graph of the function.
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Identify the initial amount a and the growth factar b in the exponential function.
£ = 8. 1.5%

a 1520 b. 20,15

Suppose the population of a town is 2,800 and is growing 2% each Year.

2. Write an squation to mods] the population growth.
b. Predict the population after 10 years, .

¥ = 2- 2,800% ; about 56,000 people

¥ = 2,800 - 2°; about 2,867,200 people
¥ = 2,800 - 1.027; about 3,413 people
¥ = 2,800 . 2°; sbout 3,413 pecple

BpoER

Write the polynomial in standard form, Then name the polynomial bused on it degree and number of terms.

C2-115 - Bx+ 6

2. —5x" —8x+ Z; quadratic trinomial ¢ —6¢% — Bx - 2; cubic polynomial
b, 35" - 8x — 2; quadratic trinomial d. G - &+ 2; cubic trinomial
Write the polynomial in standard form.
dg—F 9210

2. 9 -g+4g-10

b. -10+4g+98-¢"

Match the expression with its name.
6 —Tx+6

a. cubic trinomial

b. not a polynomial

Z-9g+4g~10
& +9¢ +dg 10 2

e

fourth-degree monomsal
quadratic binomial

pe

Simplify the differsace.

(8% — dw —5) — (6W* + 3w - 4)
g 14w —1w—0 ¢ W —lw-98
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b 2~ Tw-1

149 + 7w +1

d. 59, 2 -x-42
g (x—7x+8) e k+Tx-6)
Simplify the product, b (x+THx+E). d (x-Tix-6)
2
App +Tpr dp+ 1) 60, 6x'+35x+1
o 1opt 59 -4 1 o 7+ 105 1707+ 1 b @e-D-] e (r-nexe
b, 125" +32157 + 125" + 35 d. 127+ 217" + 150 b, {(3x+1)(2x —t) d. (3x+ 12+ 1)
Sa(3a* +3h ’ . 61, 3¢+ 10g—-8 -
a. (Sa‘ + Bajb ¢ 154°+154% a (3g-2g+4) e (3g+2)g-1)
b, 154*+38 ¢ 8+ 154 b (3g-2Hg-4) 4. (g+Dg+4)
: . ' 62, d7 - 14d + 49
Factor the polynomial. . e a @-DE+D c @-n
. 545d" + 9P b (d-49d- 1) d- @+
2. 9 d (& +60c) c. 9’d(d+6) ’ : . o
b, 96 +0) 4. 9 +1) : .. 53 P-4 . :
A (r=Trr ) o [r=Nr-T7)
. Simplify the product using the distributive property. b T+ T & (-9
@k 5 632k + 9) 64, B15-64 R
& g ke 24 o s+ 28h 4 24 a. (9b+8)9h—8) c... (95— 8)% — )
b kT 28k 4 24 4 s oape b. (8b+9¥8E-9) d.. (95 +8)(9b +8)
. - o 65 W +3B+x+] L
. Find the missing coefficient, . 2 x(@F+x+1) _ o I+ 2} o
. . - + +
(4d-93d+T) = 1247+ Bd-28 b (x+3)Bs - 1) d E+DhE+D
’ ‘ 66, Find the GCF of tha first two terms and the GCF of the last two terms of the polynomial.
a. 40 b. 40 . o 16 d. ~t6 Sh+ 200 + 4k + 16
. Simplify using the horizontal method., a 5416 b SH,4 ¢ S5H.4 d. k2 k
(2% + Sn+ 4){3n ~ 5) . ’ o BN
a. 65 +3Tn-20 5. 6n+ 250 - 3Tn~20 Factor by grouping.
b. &+ SH - [3n—20 d, 6# +13n°~5n-20 67 3R +Tr—6 )
‘ a . (x—2x~3) e (x+3¥c+2)
Find the product. . ' b, (r-2fr+3) - d (x+2)x-3)
- (4p- 3)dp +3) C 68 Which of the quadratic functions has the narrowest graph?
a 16p2+9 € 165" =24p-9 . —— o oyerd b 1. by L 4y
b. lépt+24p+0 . 165-9 ‘ =3 y=z
Complete. 65. Which of the quadratic functions has the widest graph?
' . 1 Dy —4x? L ym ’ d. 4
a ye 32 7 —AF y =035 ya-ia
L P+ 1a-132=(G-1}z+ B )} . : :
a -12 . e -l ’ __70. Order the group of quadratic fimctions from widest to Darrowest graph.
; ) i . 1 1
b 12 ‘ d. 132 J’"”‘zry"s"z»?",“i"a
Factor the expression. : ® . ___;_ 2, = _% A, y=-3a &y, J'-='-"1~ P, y= __;_ 5
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el the graph of y=mx® s _narfower than y = s’
i b. sometimes S "€, mover
S has an axis of symmetry. - S
b. sometimes © Y .t never

Fillld' tha 'eq'ﬁatidn' of the axis of symmetry and the ooord.ili_étes of the vertex of the graph of the function
Y Ax 4 Sy 1o o :

& 3. P o .3 Ry
xlu-s-,.vm-tex: [8’48] . x .B,VM.-{ 5 51 ]
b5 - fs 1 d 3, 5 .3
X= g vertex: {.E_’Bﬁ]  Fe-givertex: |-, - 297

The quadratic-equation x* + a = 0, whers 2 > 0, " has aticast one real number solution.

a, always . b. sometimes ‘ c. never

Solve the e‘quaﬁo'n by factoring.

The expression ax” —bx =10 hag the solution.x=0.
8. always b. sometimes ¢ never

Tashe is planning an expansion of a square flower garden in a eity park. If each side of the original garden is
inczeased by & m, the new total area of the garden will be 196 m?, Find the iength of each side of the original
garden,

a 20m b Bm . c '\Em d 14m

Solve the equation by the quadratic formuta. Round to the nearest hendredth if necessary.

2 asx= 14

a ‘278,45 b 2,7 c. 406,406  d 17.75,-2275
F+2x-10e0 '

. 232,-4.32 b, 3,3.32 6 ~12,10 d. 232,432

Use émy method to solve the equation. If necessary, round to the nearest hundredth.

Tx? + 25x = —17

a 266,051 b. -091,-2.66 ¢ 886,-12.43 d. -1.83,.-186
477 w42
5 324,-324 b 2,-2 ¢ 03I,-031 d. 648,648

For which discriminant is the graph possible?
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Find the number of real number solution.xs for the equation.

82, x'-3x+3=0

.83, Graph the set of points. Which model is most appropriate for the set?
6.-0, (3,2, -1,4,2,7)
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84. Graph the set of pomts ‘Which model is most appropriate for the set?

(-2, 16), (=L,1), (1, 1), (2, 10)
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Simplify the radica) expression.
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93. Solve the following syatem of equations by graphing.
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